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Exercise 1 : Conjugate in the present perfect tense /4

a.

d.

Scotland___has commited (commit) to reach net zero
by 2045.

Scotland __ has created (create) jobs in the field of
recycling.

Scotland has planted (plant) 22,000 hectares of

trees.

Glasgow __ has won (win) the prize for greenest city.

Exercise 2 : Create a phrase in the present perfect tense: /1

Exercise 3 : Conjugate in the present perfect be + ing tense /4

a.

Fossil fuels _ have been polluting (pollute) the
atmosphere.

Animals __ have been suffering (suffer) from climate change.
Scotland _ has been producing (produce) 95 % of electricity
from green energies.

Scotland ____has been working (work) with other countries to limit

global warming.

Exercise 4 : Create a phrase in the present perfect be+ing tense: /1

...The sea level has been rising by 3mm every year since 1960...
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